
1 
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khfhzf; fy;tpj; jpizf;fsk ; 

tlf;F khfhzk; 

,uz;lhk;; jtizg; guPl;ir − 𝟐𝟎𝟐𝟑 

  

 

  

 

vy;yh tpdhf;fSf;Fk; tpil jUf 

1. 5>8>11>14> .........> ............. vd;w Nfhyj;jpy; mLj;J tUk; ,U cWg;ig vOJf? 

 

 

2. jPu;f;f  𝑥 −  5 =  4 

 

 

3. RUf;Ff    
2

9
 + 

5

9
 

 

 

4. 756>3 vd;gjid tpQ;Qhd Kiwf; Fwpg;gPl;by; jUf? 

 

 

5.  ntw;Wf;$l;il epug;Gf.  𝑥-5 =  
1

 

 

 

6. v =  u + 𝑎𝑡  ,y; t I vOthahf khw;Wf? 

 

 

 

7. ON/C 
 
ntw;Wf;$l;bDs; nghUj;jkhd ngWkhdj;ij vOJf? 
 

 

 

6 x 5 CE 10 =  

gFjp - I                     

 

juk; - 9 fzpjk;  Neuk; - ,uz;L kzpj;jpahyk; 
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8. 10cm, 20cm, 25cm ePs> mfy>cauKila ghj;jpuj;jpd; nfhs;ssit 𝑙 ,y; jUf? 
 

 

 

 

9. nrq;Nfhz Kf;Nfhzp PQR ,y; gf;fk; PQ ,d; ePsk; ahJ? 

 

 

 

10. 10101,uz;L vd;gij jrk vz;zhfj; jUf? 

 

 

11. 7.945 I ,uz;lhk; jrk jhdj;jpw;F kl;le;jl;Lf? 

 

 

12. Ng&e;J xd;W 40 km/h vDk; fjpapy; gazk; nra;fpd;wJ vdpy; 100 km J}uk; nry;y 
vLf;Fk; Neuk; ahJ? 

 

 

 
 

13. cUtpy; fhzg;gLk; miutl;lj;jpd; Rw;wsitf; fhz;f? 
 
 
 
 
 
 
 

14. ngWkhdk; fhz;f:-       
54×52

(52)2  

 

 

15. fz;zDf;F mtdJ je;ij 100 A+Nuhf;fis mDg;gpdhu;. ,yq;ifapy; xU A+Nuhtpd; 
ngWkjp &gh 351 vdpd; mtDf;F A+Nuhit khw;Wtjhy; fpilf;Fk; gzk; ahJ? 

 

 

 

14cm 

12 cm 

5 cm 
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16. $l;Lf    

 

 

17. C = 2𝜋r vDk; #j;jpuj;jpy;  C= 132, 𝜋 = 
22

7
 vdpy; r ,d; ngWkhdj;ijf; fhz;f? 

 
 
 
 
 

18. rJu tbt mbiaf; nfhz;l xU ghj;jpuj;jpd; mbapd; gug;gsT 256 cm2 MFk;. ghj;jpuj;jpd; 

cauk; 20 cm MFk.; mjd; nfhs;sstpy; 
1

5
 gq;fpy; ePu; ,Ue;jjhy; mjpy; ,Uf;Fk; ePupd; 

fdtsitf; fhz;f ? 

 

 

 

 

19. O I ikakhff; nfhz;l tl;lj;jpy; X,Y vDk; Gs;spfs;  OX= XY 
MFkhW mike;Js;d 

i. gf;f ePsq;fSf;F Vw;g Kf;NFhzp OXY vt;tif Kf;Nfhzp 
vdf; $Wf? 

 

ii. tl;lj;jpd; Miu 6cm vdpy; Kf;Nfhzp OXY ,d; Rw;wsitf; 
fhz;f? 
 

 

 

 

20. A,B vDk; ,uz;L tPLfs; 100m ,ilj;J}uj;jpy; mike;Js;sd ,U tPlfspy; ,Ue;J 
rkJ}uj;jpy; kjpy; xd;iw mikf;fNtz;bAs;sJ mk; kjpy; mikAk; ,lj;jpd; mikit 
gUk;gbg;glk; xd;wpy; Fwpj;Jf;fhl;Lf? 

 

   

 

 

 

 

                                       ( 20x2= 40 Gs;spfs;) 

 

1  0  1  1 

  1  1  1 
,uz;L 
,uz;L 

O 

Y X 
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                          gFjp II 

tpUk;gpa Ie;J tpdhf;fSf;F  khj;jpuk; tpil jUf. 

01. xU clw;gapw;rp Nghl;b xd;wpy; khztu; epd;w xOq;F  gpd;tUkhW KjhyhtJ epiuapy; 
9 khztu;fSk; ,uz;lhtJ epiuapy; 14 khztu;fSk; %d;whtJ epiuapy; 19 khztu;fSk; 
vd;wthW fhzg;gl;ldu; 

i. Kjy; 5 epiufspy; epd;w khztu; vz;zpf;iffis Xu; vz;Nfhy tbtpy; jUf? 

ii. 10tJ epiuapy; cs;s khztu;fspd; vz;zpf;if ahJ? 

iii. vj;jidahtJ epiuapy; 44 khztu;fs; cs;sdu;? 

iv. ,g;Nghl;bapy; nkhj;jkhf 10 epiufs; fhzg;gbd; clw;gapw;rp Nghl;bapy; gq;Fgw;wpa 

nkhj;j khztu; cz;zpf;if ahJ? 

                                                                                                                      (2+3+3+4 + 12 Gs;spfs; ) 

 

02. cm,mm mstpil nfhz;l Neu;tpspk;G > ftuhak; kl;Lk; gad;gLj;jp  

i. AB = 8cm , BC= 6 cm, ABC= 600 MfTs;s Kf;Nfhzp ABC I mikf;f. 

ii. Gs;sp C apy; ,Ue;J AB apw;F nrq;Fj;J tiuf? 

iii. NkNy tiuag;gl;l nrq;Fj;J AB Ir; re;jpf;Fk; Gs;spia D vdg; ngaupLf. CD 

,d; ePsj;ij mse;J vOJf? 

iv. Kf;Nfhzp ABC apd; gug;gsT ahJ? 

                                    (5+2+2+3= 12 Gs;spfs;) 

 

 

03. jug;gl;l cUf;fspy;  Mq;fpy vOj;Jf;fshy; Fwpf;fg;gl;l Nfhzq;fspd; gUkd;fisf; 
fhz;f. mtw;wpw;fhd fhuzj;ijAk; Fwpg;gpLf 

    i).                                                                                                                                                  

 

 

 

 

 

 

 

 

550 

𝒂 

𝐛 

ii) 

1230 𝒙 
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04. &gh 15000 ,w;F nfhs;tdT nra;ag;gl;l ifj;njhiyNgrp xd;W 10 % ,yhgk; itj;J 

tpiy Fwpf;fg;gl;lJ tpw;gidapd; NghJ 4% fopT toq;fg;gl;lJ  

i. ifj;njhiyNgrpapd; Fwpj;j tpiy ahJ? 

ii. mjd; tpw;gid tpiyiaf; fhz;f 

iii. tpw;gidahy; fpilf;Fk; ,yhgk; ahJ?  

iv. ,yhg rjtP;jj;ijf; fhz;f  

                                                      (3+3+3+3= 12 Gs;spfs;) 

05. a. gpd;tUk; <UWg;Gf; Nfhitapd; ngUf;fj;ij tpupj;njOjpr; RUf;Ff.      
        

i. (y-3)  (y+8) 

 

 

b.     fhuzpg;gLj;Jf. 

i. 3𝑥2 -27 

 

 

ii. 𝑛2+6𝑛+8 

 

c. xUq;fik rkd;ghl;ilj; jPu;f;f. 

6a + 3b = 30 

      5a - 3b  = 3 

 

                                               (2+6+4= 12 Gs;spfs;) 
 
 
 
                                                                                                                                                                 

iii). 

750 

𝒓 

𝒒
q 

𝒔 

𝒑 

> 

> 
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06. a. cUtpy; jug;gl;l jfty;fspd; mbg;gilapy; x,y,z ,d; gUkd;fisf; fhz;f 

                                   

                                  

                                  

 

 

b. Kf;Nfhzp xd;wpd; Gwf;Nfhzq;fs 2 : 3 : 4 vd;w tpfpjj;jpy; mike;Js;sJ 

i. Gwf;Nfhzq;fspd; gUkd;fisf; fhz;f. 

ii. mff; Nfhzq;fspd;  gUkd;fisf; fhz;f. 

iii. ,k; Kf;Nfhzp vt;tif Kf;Nfhzp? 

       (6+6= 12 Gs;spfs;) 

 

07. a. RUf;Ff   [3
1

3
 ÷ 2

2

9
] ,d; 1

1

3
 

 

 

 

b. xUtu; jdJ tUkhdj;jpy; 
1

3
 gq;if cztpw;Fk; 

1

6
  gq;if fy;tpf;Fk; nryT nra;fpwhu; 

kpFjpia tq;fpapy; itg;gpypLfpwhu;. 
 

i. cztpw;Fk; fy;tpf;Fk; nryT nra;j njhif KOtjd; vd;d gpd;dkhFk; 
 
 

ii. tq;fpapy; itg;gpyplg;gl;l njhif &gh 50000 vdpy; mtuJ khj tUkhdk; vt;tsT? 
 
 
 
 

(5+3+4= 12 Gs;spfs;) 

 

 

 

 

 

 

  

 


